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B.Com. V Semester Degree Examination, Sept./Oct. - 2024
COMMERCE
SEC-4 : Employability Skills
(NEP)

Time : 2 Hours Maximum Marks : 50

Note : Answer all the Questions.

1. Which of the following are Central Government Exams ?

(A) SSC-CGL (B) UPSC-IAS

(C) Railway Exams (D) All of the Above
88 FINIYNYY 80T AToF T SHAS waimfa SRR ?

(A) SSC-CGL (B) UPSC-IAS

(C) T moe3ned (D) XedT DY

2. NABARD Stands for :
NABARD <033 :
(A) National Bank for Agriculture and Rural Development
(B) National Board for Agriculture and Rural Development
(C) National Bank for Agriculture and Road Development
(D) National Bank for Aviation and Road Development

3. Which of the following are the State Government Exams ?
(A) FDA (B) Police Constable
(C) Commercial Tax Inspector (D) All the Above

3 3UNIYNLY Doz, BFRFS SERT BOCEN PR 9
(A) FDA (B) SRed= e
(C) =o0edes, 301 TWODEFTI (D) DT DY
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4.

10.

11.

12.

Employer pay to the Employees.

(A) Commission (B) Salary (C) Wages (D) All the Above
NTRLNTOTI BF, WBRENNTIN ANENEDIA

(A) BORS (B) =ow¢ (C) Re33/e0we0 (D) 0eIT QP

In SSC-CGL, CGL stands for :
SSC-CGL ¢, CGL 20T0T :

(A) Combined Graduate Law (B) Combined Graduate Level
(C) Combined Group Law (D) Combined Group Level

Who conducts exams for the Post of APC (Armed Police Constable) in Karnataka ?
Boor3303Q APC (333 Locdx® Hewd) aadoﬁ waeﬁosmq O3RTY IBRSTVT 9

= -
(A) KSP (B) UPSC-NDA (C) UPSC-IPS (D) SSC

Complete the series :
RTEIODNT), TREFNRRVA
BF, CH, ? ,HD,LT
(A) FG (B) EK (C) CE (D) FJ

Complete the series.

XTE3OHR, TROFRAVA.
1,4, 9, 16, 25, _?
(A) 40 (B) 36 (C) 35 (D) 49

Find the LCM of 14, 56, 91 and 84 by division method.
DPBIOD DTTROT 14, 56, 91 B 84 T ©.M.©. YT, TOWERBOWD.
(A) 2184 (B) 2854 (C) 2764 (D) 2844

Rent of the House is increased from ¥ 5,000 to 5,500. Expenses the increase in price
as a percentage of the original rent :

NI m@ﬁoﬁamol % 5,000 503 5,500% éagﬁeroﬁd. WRLIBROD  Jedw@owmodd BSeNnY
éz;’;ma)el BITRX
(A) 5% (B) 15% (C) 8% (D) 10%

3,8,15,24, ? 48,63.
(A) 0 (B) 1 (€) 2 (D) 4

E-5, G-7,1-9, K-11, _ ? 2 .

_—

(A) M-15,P-21  (B) M-13,0-15 (C) O-15,X-24 (D) N-18, K-14



13.

14.

15.

16.

17.

18.

19.

20.
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FAG, GAF, HAI, IAH, _?

(A) JAK (B) HAL (C) HAK (D) JAI

5,95, 15,75, 525,4725, 2 .

(A) 51795 (B) 50135 (C) 51025 (D) 51975

Which of the following are twin Primes ?
83 IINTPNTY 0IPRD BRP VRGO, DO FOWLRONO 7
(A) (37, 41) (B) 8, 7) (C) (43, 47) (D) (71, 73)

The Sum of first 50 natural numbers is equal to .
BT 50 JBNFT BoBNY BIRTH) R ATPT[NDSS.
(A) 1275 (B) 1025 (C) 1235 (D) 1205

(10, 25, 30, 45, 50) What is Average ?
(10, 25, 30, 45, 50) IToFO A ?
(A) 30 (B) 31 (C) 32 (D) 33

A number is increased by 10% and then it is decreased by 10% find the net Increase or
decrease percent.

(A) 1% Increase (B) 1% Decrease (C) 0 % (D) 2 % Increase

WO So&%ofmaﬁaol 10% %azs’f)’mmgd S08T T, 10% IRDARYIRMTT. JBE éz;jeé T
Q9T SeDWWTTY, TORLROWO.

(A) 1% B9 (B) 1% 93 (C) 0% (D) 2% B

A cycle was purchased for 1600 and sold for ¥1400, find the loss %.
20T ﬂésefab% ?1600% D0 TR TONR ?1400%I§ R®00TT, IFT 3300 DT, ?

2 1 1 1
12—% 12—% 12=% 12—%
(a) 123 (B) 12; (€ 125 (D) 127

By selling 8 Articles, a Tradesman make a loss equal to the cost price of 4 articles, find
loss %.

Swﬁ_aomfabo{ TTOTOLS TIOTT TROT, 20 msméofm 45#371%3 SR BT 5%&)5&0{ @abajé)#om_oﬁ.
ST 3300 DT, ?
(A) 25% (B) 100/3 % (C) 50% (D) 40%

A AR 0 P.T.O.
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Directions (21-25) : The Pie-chart
various sports during a particular
questions given below it.

4

drawn below shows the spendings of a country on
year. Study the pie-chart carefully and answer the

Percentage of money spent on various sports for one year.

Tennis
10%
Others
10%

Golf
12.5%

Basketball
12.5%

Cricket
25%

Football
15%

Hockey

15%

QTWer3[AL (21-25) : 33 FENT 20w ANFY TERQ D0F JeTRNY hed BeIW WYy, Fy-FF 00
WSHORNT. OTRY, HE0FCNOT WFORT [RR IYR JeRWLT IFRYR, LwId2.

WOTH TRFRY ANF 3eBNY 1S VW IPRT Teew e 0@T0.

BAE noo?
10% | 12.5%
933 ° ;
o,
12.5%
? 15%
o

21.

15%

If the total amount spent on sports during the year was 1,50,00,000, and the amount

spent on Cricket and Hockey together was :

20T TIRETY 3e@MoN DF [TPERT 2083 328 ¥1,50,00,000 ejﬂcg)d, 3B DB TodR DedE

IR B3I VTN 9

(A) 25,00,000

(B)

37,50,

000 (C) 50,00,000 (D) 60,00,000



22.

23.

24.

25.

26.
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Out of the following, the Country spent the same amount on :

(A) Hockey and Tennis (B) Golf and Football
(C) Cricket and Football (D) Football and Hockey
FENTINYY TeTR) DF IPRT 20TE BT B[BRT

(A) T3 B éSQ{o‘e (B) oo, BB 333&33@6

(C) & DD mésg@@ (D) hepe” BB s

Pie-chart shows that the most popular game of the country is (on the basis of money
spent) :

(A) Cricket (B) Football (C) Basket ball (D) Hockey

ﬁd—&ﬁ Te3T O30T 383 ézi% R TRLONTNG DO éxae@z’ogd 2 (DWBF TRRT TERT ST
0edd) :

(A) 83 (B) e’ (C) Armees (D) o8

The ratio of the total amount spent on Football to that spent on Hockey is :
'fo.oé,sgcf DD ToBN DWDFE BT 283 mgcs ORTOZ DTN ?
(A) 1:15 B) 1:1 () 15:1 (D) 3:20

If the toal Amount spent on sports during the year was I1,20,00,000. How much was
spent on Basketball ?

2,000 [RAFTY FeBMoN DWF T[RRI 2t dfag %1,20,00,000 e:mz%d, mﬂé&%@fﬁ DT DWF
mtsemﬁdagd 9

(A) 9,50,000 (B) 10,00,000 (C) 12,00,000 (D) 15,00,000

‘A’ can do a piece of work in 6 days, ‘B’ can do the same work in 7 days. How long will
they take it both work together ?

3 2 4 5
(A) 3B days (B) 3Edays (C) 31—3days (D) 3Edays

‘A’ 2,000 %@mm@ OTNYY TIPTITTD, ‘B’ eazse %@55&01763371%3@;2 IVTLITIT. faag)dro mgﬁ
BORTIOBED DT, B éﬁcﬁa%@%@gﬁ 9
5

3 2 4
(A) 3zoste  (B) 37 03w (C) 37osnw (D) 37 osnw

A AR 0 P.T.O.
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27.

28.

29.

30.

There are 30 students in the class. The average age of the first 10 students is 12.5
years, the average age of the next 20 students is 13.1 years. The average Age of the
whole class is :

(A) 12.5 years (B) 12.7 years (C) 12.8 years (D) 12.9 years

gTNE0DY 30 @mét;sgﬂ@w%d, BRTO 10 @méc;és-mf ROVFO TWODPA 12.5 THENW. R[0oHLI 20
@méc;és-mf AOVFO B[ODA 13.1 BIENW, QR STNS0D FTIFO B[ODA @aa 2

(A) 12.5TFFNd  (B) 12.73FFnsd  (C) 12.83FFNed (D) 12.9TXFNEH

What number should come at the Question mark ?
@%&‘C;SF% 23%01033 ST 030w F03, WTWTT 9
@ o) D

(A) 36 (B) 26 (C) 66 (D) 56

‘SPECIAL’ is written as 65’ in a certain code language. What will ‘CONNECT’ be coded
as ?

20T 3R gPROD Tged ‘SPECIAL’ 9, 65’ 0T WI0DCONT, @le deed goRodY
‘CONNECT’@:D;&DOl Tent TNV 9

(A) 70 (B) 64 (C) 32 (D) 74

In a certain code “FROZEN” is written as “OFAPSG” then how would “MOLTEN” be
written in that code ?

20T dee PRONY “FROZEN” 9=, “OFAPSG” 20T wT0HTNT. w0t 3ol ioRODNY
“MOLTEN” &=, ey TRV ?

(A) OFPOMN (B) OFSMPN (C) OFUMPN (D) OFUNPM
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Instruction for Q.No. 31 and Q.No. 32 : In the following questions, select the related
word from the given alternatives.

BRWN I 0. 31y 32 : K IWNT g%mfg QERTLT TSR ORNYOT FOWORAT TWRT, 303% TRE.

31. Smoke : Pollution : : War: __ 2 .
(A) Victory (B) Peace (C) Treaty (D) Destruction
ﬁfaﬁ:m@ﬁs::m%: _?
(A) Rengy (B) 008 (C) wow (D) QT3

32. Flow : River : : Stagnant : ? .
(A) Pool (B) Rain (C) Stream (D) Canal
%@@:3@:::@3: ?
(A) 3o% (B) =% (C) R (D) Boe0dl

)

33. A and B are married couple. X and Y are brothers of A. How is Y related to B ?

(A) Brother-in-Law (B) Brothers

(C) Son-in-law (D) Cousin

A DB B D303 BOTENW. X VB Y - A oD JFDRCTT. Y It BRA T0woRT 9
(A) AReTT I (B) @sg/éme

(C) oD (D) RRewT BoWoH

34. A is the Son of C ; C and Q are sisters ; Z is the mother of Q and P is the Son of Z.
Which of the following statement is true ?
(A) P and A are cousins.
(B) P is the maternal uncle of A.
(C) Q is the maternal Grandfather of A.

(D) C and P are sisters.

A, C oD &m; C 0B Q ABRETOOINT; Q T Z00W Z 30 Z T &R P.
& FPNT 030w BePF TOOSIPDNT ?

(A) P A BT FoWOR

(B) P, A0 Z000 83T

(C) Q,A0D ZocW0H 30T

(D) C D PABRHETOOND

A AR 0 P.T.O.
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35. Raju goes to school by bus, the bus goes straight 5 km then turns left and moves 8 km
at last it takes right turn and moves 2 km to reach school. Distance between school
and Raju’s home is :

(A) 15 km (B) 8.5 km (C) 12 km (D) 7 km

oot WABY TSR TREdTVS, WA JeTwoN 5 8.0 TBREVIT I0TT DTWF, STON 8 §.40¢.
z%ci’)mgd. 9T u@%& édamgd 3B mcﬁoﬁmﬁa‘}z 3TN 2 F.eN€. zScf)méJcS. ToMRTT TS SWIeH)
TOZNT dFON IWNT WOTT DT, ?

(A) 15 3.0¢. (B) 8.5 .0¢. (C) 12 &.0e. (D) 7 .50¢.

36. Which of the following diagrams indicates the best relation between Author, Lawyer
and Singer ?

BENT 0300z 83y Seads, Wdew BB MRONT IWND xowo;wmol nraa%:bgd 9

(A)

(C)

® (©
© (e
e

37. What is the minimum education qualification required to become a Bank employee ?
(A) SSLC (B) PUC
(C) Any degree (D) None of the above
aplet mcﬁ;aseﬁofmﬁm @ﬁéééadm %Qeg égsa OBES D 9
(A) SSLC (B) PUC
(C) ST TR (D) edT BRPTR ©Y

38. Simplify : 7-2+13-5-2+2
BOPRPPR : 7T—-2+13-5-2+2
A) 12 (B) 13 (C) 14 (D) 15
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39. 4 kg of Rice at ¥ 5 per kg is mixed with 8 kgs of Rice at ¥ 6 per kg, find average price of

mixture.

(A)  S/kg (B) 6/kg

(C) 5.66/kg (D) 6.66/kg

4 8.2 93355500, 88.23. 08T 6LI0D BT NIJF BRBORING, TMWHET NJFIT FTOFO
B8 O 2

(A) 5/8.22. (B) 6/8.22.

(C) 5.66/3.22. (D) 6.66/3.22.

40. If wall is called window, window is called door, door is called floor, floor is called roof
and roof is called ventilator, what will a person stand on ?

(A) Door (B) Ventilator
(C) Roof (D) Floor

ﬁ.@ecéoﬁamol 3838, %é&%oﬁn?nel oNeD, mﬁ@@& TR, mﬁﬁéojamel (SRR e;ow%oﬁomol
Sowderst” Qo ITT, W) BB DY ILNTYS ?

(A) one (B) Soedc3ee3T®

(C) eoed (D) =B

41. Z takes I 50,000 Loan from Bank for 6 months at 10% Interest rate find amount to be
repaid.

Zai)ol 10% 28 3T 6 SoNTRTN woéo%aod T 50,000 T0® TBT, ToMOTT 0TVTRRE 0I0TBLIeTOT
mg @a& 2

(A) 52,500 (B) 55,200 (C) 2,500 (D) 5,000

42. A man Borrowed some money from Bank at Interest rate of 8% for 2 years. He pays
Simple Interest ¥ 4,000, find principle.

2.2, wéizms-—@é 8% W& TT3Y méo%md @% as@wm& O TRT. DR ITY 28 X 4,000
%@gpm. TOMOTT PO mg DT, ?

(A) 25,000 (B) 20,000 (C) 30,000 (D) 16,000

A AR 0 P.T.O.
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43. In a partnership profit ratio of A and B are in the ratio of 6 : 5 for the period of 1 year
then the Investment ratio of A and B is :

TPLOTPOTOD OPT ONTRITY A &) B AW 1 IRFT @ROR 6 : 5 0 9DTRIBYES.
TOMTET A ®B, BRY TeRIoDd 908 O ?

(A) 5:6 (B) 2:3 (C) 6:5 (D) 3:2

44. Fill in the blank with the suitable preposition.

He Travelled all the world when he was 80 year old.
(A) in (B) over
(C) with (D) of

45. Select the Incorrectly spelt word :
(A) Cemetery (B) Accommodate

(C) Intruder (D) Necessary

46. Select the correct passive form of the given sentence.
Mama will Tell her later.
(A) She will be tell later by mama
(B) She will Tell later by mama
(C) She will be told later by mama

(D) She will be Tell later

4'7. Smallest 4 digit number, which is perfect Square ?
SN ﬁo&ﬁéﬁ%ﬂ@q O30T SEDM 30935033 TOTRRE BNE 509323 2

(A) 1000 (B) 1022 (C) 1064 (D) 1024
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Instructions for Q.No. 48, 49 and 50. In each of the following questions, 4 alternatives
are given for the Idiom /Phrase underlined at the question places. Choose the alternative
which best expresses the meaning of the Idiom/Phrase as your answers.

48. In the Last Budget, The Government Brought Forward a new scheme of Taxation.

(A) Prioritized (B) Displayed (C) Notified (D) Introduced
49. To Roll out the Redcarpet :

(A) To Buy a Gift (B) To give a warning signed

(C) To Decorate the room (D) To give a Grand Welcome
50. Select the most appropriate ‘ANTONYM’ of the given word : REBELLION.

(A) Uprising (B) Loyalty (C) Sedition (D) Allotment

-00o0-



